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The degree of the differential equation   ______.

(a) 1  (b) 2  (c) 3  (d) 4
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The order and degree of the differential equation   are respectively ______.

(a) 2 and 3  (b) 3 and 2  (c) 2 and 1  (d) 2 and 2
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The order and degree of the differential equation   are respectively ______.

(a) 2 and 6  (b) 3 and 6  (c) 1 and 4  (d) 2 and 4
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The differential equation   = x is ______.

(a) of order 2 and degree 1  (b) of order 1 and degree 3  (c) of order 1 and degree 6  (d) of order 1 and degree 2
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3
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1
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The differential equation formed by eliminating a and b from   is ______.

(a)  (b)  (c)  (d) 

y = a + bex e−x
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The integrating factor of the differential equation   is ______.

(a) e  (b)  (c) ഽPdy  (d) e
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If y = cx + c− c  then its differential equation is ______.

(a)  (b)  (c)  (d) 
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The complementary function of (D + 4)y = e  is ______.

(a) (Ax +B)e  (b) (Ax +B)e  (c) A cos 2x + B sin 2x  (d) Ae + Be

2 2x
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The differential equation of y = mx + c is ______.(m and c are arbitrary constants) 

(a)  = 0  (b) y = x   + c  (c) xdy + ydx = 0  (d) ydx − xdy = 0yd
2
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The particular integral of the differential equation is   + 16y = 2e  ______.

(a)  (b)  (c) x e  (d) xe
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Solution of   + Px = 0 ______.

(a) x = ce  (b) x = ce  (c) x = py + c  (d) x = cy

dy

dx

py −py

If sec  x is an integrating factor of the differential equation   + Py Q then P = ______.

(a) 2 tan x  (b) sec x  (c) cos  x  (d) tan  x
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The integrating factor of x   - y = x  is ______.

(a)  (b)  (c) log x  (d) x
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The solution of the differential equation   + Py = Q where P and Q are the function of x is ______.
(a)  (b)  (c)  (d) 

dy

dxy = ∫ Q dx + ce∫ Pdx y = ∫ Q dx + ce− ∫ Pdx y = ∫ Q dx + ce∫ Pdx e∫ Pdx y = ∫ Q dx + Ce∫ Pdx e− ∫ Pdx

The differential equation formed by eliminating A and B from y = e (A cos x + B sin x) is ______.

(a) y − 4y + 5 = 0  (b) y + 4y – 5 = 0  (c) y −4y −5= 0  (d) y + 4y + 5 = 0

−2x
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The particular integral of the differential equation f(D)y = e  where f(D) = (D−a)  ______.

(a)  (b) xe  (c) e  (d) x e
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2
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The differential equation of x + y = a  ______.

(a) xdy + ydx = 0  (b) ydx – xdy = 0  (c) xdx – ydx = 0  (d) xdx + ydy = 0

2  2  2

The complementary function of   = 0 is ______.

(a) A + Be  (b) (A + B) e  (c) (Ax + B) e  (d) Ae  + B
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The P.I of (3D + D − 14)y = 13e  is ______.

(a) e  (b) xe  (c) e  (d) 13xe
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x
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The general solution of the differential equation   = cos x is ______.

(a) y = sinx + 1  (b) y = sinx - 2  (c) y = cos x + c, c is an arbitrary constant

(d) y = sin x + c, c is an arbitrary constant

dy

dx

A homogeneous differential equation of the form   = f  can be solved by making substitution, ______.

(a) y = v x  (b) v = y x  (c) x = v y  (d) x = v
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A homogeneous differential equation of the form    = f  can be solved by making substitution,______.

(a) x = v y  (b) y = v x  (c) y = v  (d) x = v

dx

dy
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The variable separable form of   by taking y = vx and   is ______.

(a)  (b)  (c)  (d) 
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Which of the following is the homogeneous differential equation?

(a) (3x−5)dx = (4y−1)dy  (b) xy dx−(x +y )dy = 0  (c) y dx+(x − xy  − y )dy = 0  (d) (x +y)dx = (y +x)dy3 3 2 2  2 2 2

The solution of the differential equation   is ______.

(a)  (b)  (c)  (d) 
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The differential equation of all circles with centre at the origin is _____________

(a) xdy +ydx = 0  (b) xdy - ydx = 0  (c) xdx + ydy = 0  (d) xdx - ydy = 0

The degree of the differential equation   is _____________

(a) 1  (b) 2  (c) 3  (d) 6
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The degree and order of  = 0 are _____________

(a) 2,1  (b) 1,2  (c) 2,2  (d) 1,1
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Integrating factor of   is ______

(a) e  (b) log x  (c)  (d) e
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1
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The differential equation of the family of lines y=mx is ______
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(a) =m  (b) y dx - x dx  (c) =0  (d) y dx + x dy=0dy

dx
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dx2

The P.I. of the differential equation f(D)y = e  where f(D) = (D-a) g(D), g(a) ≠0 is _____

(a) me  (b)  (c) g(a)e  (d) 

ax

ax eax

g(a)
ax xeax
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The solution of xdx + ydy = 0 is _____________

(a)  (b)  (c)  (d) xy = c+ = cx2 y2 = cx
y − = cx2 y2

When y = vx, the differential equation   reduces to  _______________

(a)  (b)  (c)  (d) 

x = y +
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The solution of the equation of the type   (P is a function of x) is given by  _______________

(a)  (b)  (c)  (d) 

+ Py = 0dy

dx

y = ce∫ Pdx y ∫ Pdx = c x = ye∫ Pdx y = cx

The complementary function of the differential equation   _______________

(a)  (b)  (c)  (d) 

( − 2D + 1) y =  is D2 e2x

( + )Aex Be−x A + Bex (Ax + B)ex A + Be−x

The solution of   _______________

(a)  (b)  (c)  (d) 

− y = 0 is 
yd2
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(A + B)ex (Ax + B)e−x A +ex B
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(A + Bx)e−x

A particular integral of   ____________

(a)  (b)  (c)  (d) 

(3 + D − 14) y = 13  is D2 e2x

x2

2 e
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The particular integral of the differential equation  ____________

(a)  (b)  (c)  (d) 

 (D) y =  wheref (D) = (D − a)g(D)g(a) ≠ 0 is eax

meax eax
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The degree of the differential equation  ____________

(a) 1/2  (b) 2  (c) 3  (d) 4
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The degree of the differential equation  ____________

(a) 4  (b) 3  (c) 5  (d) 10
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The equation of the curve whose slope is given by   and which passes through the point (1, 1) is ____________

(a) x  = y  (b) y  = x  (c) x  = 2y  (d) y  = 2x

= ,x > 0, y, > 0dy

dx

2y
x

2 2 2 2

The solution of the differential equation  ________

(a)  (b)  (c)  (d) 

− = 0 is given bydy

dx

y(x+1)

x

y = xex+c x = yex y = x + c xy = + cex

The solution of the differential equation  ___________

(a)  (b)  (c)  (d) 

x = y + x tan  is dy

dx
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sin = x + cx
y sin = cx

y

x
sin = cyx

y sin = cy
y
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The differential equation satisfied by ax  + bx  = 1 is ___________

(a)  (b)  (c)  (d) none of these

2 2

xy + + y = 0y2 y2
1 y1 xy + x − y = 0y2 y2

1 y1 xy − x + y = 0y2 y2
1 y1

The solution of the differential equation  ________________

(a)  (b)  (c)  (d) 

( + 1) + ( + 1) = 0 is x2 dy

dx
y2

y = 2 + x2 y = 1+x

1−x
y = x(x − 1) y = 1−x

1+x

The differential equation   has the general solution ________________

(a)  (b)  (c)  (d) 

x − y =
dy

dx
x2

y − = 2cxx3 2y − = cxx3 2y + = 2cxx2 y + = 2cxx2
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What is the integrating factor of 

(a) sec x + tan x  (b) log (sec x + tan x)  (c) e  (d) sec x

+ y secx = tanx?
dy

dx

secx

The order of the differential equation   ________________

(a) 2  (b) 1  (c) 0  (d) not defined

2 − 3 + y = 0 is x2 yd2

dx2

dy

dx

Which of the following differential equation has   as the general solution?

(a)  (b)  (c)  (d) 

y = +c1e
x c2e
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In interpolation the independent variable y is called the _____

(a) entry  (b) argument  (c) modulus  (d) amplitude
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